22.

23.

24,

. Evaluate j

. Show that the points (0, 0), (5, n/8), (5, 7n/8) form an equilateral triangle.

1

asinx+bcosx

. Solve (x)" +x) dx + (»x* + y) dy = 0.

Sl D) %Jrzw— 42 =0,

SECTION -C 5 7-0a5

LONG ANSWER TYPE QUESTIONS
Attempt any 5 questions. Each question carries 7 marks.

. Ify=sin (m Sin" ' x) then show that (y, e (n*- m)(¥,)e-

Show that the condition that the pair of tangents drawn to the circle

X +)" +2gx+2fy+ ¢ =0 from (g, /) may be right angles is > + /> + e =0. |
|

. Find the equation to the circle whose diameter is the common chord of the circles

4y +2x+3y+1=0,x"+)? +4x+3y+2=0. Find also the length of the com-

mon chord.
2l 2

. Show that the equation of a hyperbola in the standard form is x_2 —2 =1,
a

B
Evaluate J‘ % dx.
— Ox

™

Evaluate J‘
0
Find the area enclosed between the curve y = ¥ - 5x, y=4-2x

x sin x
L sinx





20.

21.

. Evaluate '[

. Evaluate J'

. Evaluate J.

. Show that the points (0, 0), (5, 7/8), (5, 7n/8) form an equilateral triangle.

1

asinx + b cos x

. Solve (x)” +x) dx + (x> +y) dy = 0.

Sl ) %-Fny— 42 =0,

SECTION -C 5x7 =235

LONG ANSWER TYPE QUESTIONS
Attempt any 5 questions. Each question carries 7 marks.

. Ify=sin(mSin ' x) then show that (y, ), = (n* — m2)¥,)p.

. Show that the condition that the pair of tangents drawn to the circle

X+ +2gx+2fy+ ¢ =0 from (g, /) may be right angles is g* + /> + ¢ = 0.
Find the equation to the circle whose diameter is the common chord of the circles
P4y +2+3y+1=0,x"+)  +4x+ 3y +2=0. Find also the length of the com-

mon chord.

2 2
Show that the equation of a hyperbola in the standard form is x_z = % =
a

- Do o5
e

i .
X Sinx
s 1+sinx

. Find the area enclosed between the curve y = e S5x,y=4—2x.




